Technical Description

Swivel tool changer STC350

M0629-1

Tool changers | Swivels | Swivel tool changers | Grippers | Hose packages | Valve units | Tool systems

g

/5~ products






The information in this document is subject to change without prior notice and should not be
regarded as an undertaking from Robot System Products AB. Robot System Products AB
assumes no responsibility for errors that may occur in this document.

Robot System Products AB bears no responsibility for damage that is incurred by the use of this
document, or the software or hardware described in this document.

The document, or parts of it, may not be reproduced or copied without prior permission from
Robot System Products AB. It may neither be imparted to a third party, nor otherwise be used
without authorization. Infringement hereof will be subject to action in accordance with the
applicable laws.

Further copies of this document can be obtained from Robot System Products AB at
current prices.

© Robot System Products AB

Robot Systems Products AB
Isolatorvagen 4

SE-721 37 Vasteras
Sweden



CONTENTS

1 INTRODUCGTION ...ttt e e e e e e e e e e s e e et e e eanneees 5
1.1 RSP SWIVEI tOO] ChaNQET.......coviiiiiii et 6
1.2 DOCUMEIES ...ttt oottt e e e e ettt et e e e e e e e et e e ettt e e e e e e e eeenbbaaaeeeaaas 6
RGNV T T g oI T £ SO UPPPPTRPPN 6
1.4 Complementary EQUIDIMENT .......uu it e e e e e e e e e 6

2 TECHNICAL SPECIFICATIONS . ..ot eaas 7
2.1 Description of swivel tool changers and tool attachments.................ccccciiiiiiiiiiiininnns 7

2.1.1 Coordinate System Definition ...........cooiiiiiiiiiii e 8
2.1.2 Swivel tool changer STC350-6. Article: POBO5 .........ccoocuiiieiiiiieeeiieeeeie e 9
2.1.3 Tool attachment, TA350-8 Round. Article: POBOB.............ccoeeeieeiiieeiiiieieeeeeeeeiieee e eeeeene 10
2.1.4 Tool attachment, TA350-8 square. Article: POB02 ...........coevveeiiiiiiiiiieiee e eesiieeeee e 11
2.1.5 Swivel tool changer STC350-6E. Article: POB07 .......ccccooeiiieieiiiiiccccee e 12
2.1.6 Swivel tool changer STC350-6E Sealed. Article: POB95A .......cccooiiiiiieiiiieieecn 13
2.1.7 Tool attachment round, TA350-8E. Article: POBOS............cccoeeiiiiiiiiiiiieeeiiiiiee e 14
2.1.8 Tool attachment square, TA350-8E. Article: POB04..........cccoooeiiiiiiiiiiciceee e 15
2.1.9 PNeumatic diagram .... ..o s 16
2.1.10 Circuit diagram E0167-006 for PO607 and POB95A .........ccoooiiiieiieeeeceeec e 17
2.1.11 Circuit diagram E0166-003 for POB0S.........c.cccoiiiiiiieiiiiicieice s 18
2.1.12 Circuit diagram E0166-005 fOr POBOA ...........eeeiiiiiiieiiiiiee ettt 19
2.2 Options for SWIVEl t0Ol CNANGET ..........uuuiiiiiiiiiiiiiiiiiiiiiiee bbb eeaeeene 20
2.2.1 RODOt @d@PLatioN Kil ........eeeiiiiiiie ittt e e sre e e ene 20
A o Lo I Lo U= o1 ) o> 1o o PO RRUR 20
2.2.3 Tool stand Kit. ArtiCle: POB39.........cuuiiiiiieeiiiiiiiiiie et e e e e e e e e e s e senreaee e e e e e s annnnes 21
2.2.4 Limitation of RODOt MOVEMENTS........uiiiiiiiiiiiiieie e e e e e e s nnenes 21

S S P A RE PA R T S e 22

3.1 Part list for swivel tool changer, P0605, P0O607 and PO695A .............ovviieeeeeeenieinnn, 22



1 INTRODUCTION

Robot System Products is a front-rank provider of peripheral products for high performance
robot applications. We provide complete system solutions for your robot installations, aiming to
improve your productivity with the most reliable and cost-effective tooling on the market.
Continuously we explore emerging technologies, working with leading edge design.

Robot System Products has a wide range of standard robot peripheral products:

Tool changers
Swivels

Swivel tool changers
Grippers

Hose Packages
Valve units

Tool systems

Tool stands

Robot System Products’ swivel tool changers are constructed to maximize the flexibility and
reliability of your robot fleet. Through our patented locking device TrueConnect™ robustness
and high safety are combined with low weight and compactness. With our swivels you can
provide compressed air, water, electrical and data signals as well as weld and servo power to
your tools with robot motion capabilities fully maintained. Our swivel tool changers unite the
TrueConnect™ tool changing mechanism with our swivel technology, combining the best out of
two technologies.

Robot System Products’ product lines are available for all major robot brands and come with
complete documentation. 3D-models for simulation are available for download at:
WWW.rsp.eu.com.

MO0629-1 version 3.3


http://www.rsp.eu.com/

1.1 RSP swivel tool changer

The Robot System Products’ swivel tool changer integrates the advantages of swivels and tool
changers into one single product maximizing the flexibility and productivity of the robot.

Our tool changer technology enables robots to handle and switch between multiple tools. The
principle behind the patented locking device TrueConnect™ is that load is distributed uniformly
through pressing locking balls into spherical grooves in the tool attachment. With TrueConnect™
the play is a minimum and the position repeatability is practically absolute through the lifespan.
In consequence substantially larger positional deviations are accepted when docking, A built-in
spring ensures that the tool remains in place in the swivel tool changer even if the air pressure
drops.

When using a swivel tool changer compressed air and electric signals will be directly available at
the tool without loose, hanging cables and hoses which has to be considered during
programming. The combination of RSP’s hose packages with the swivel tool changer does in
addition significantly reduce the design and installation times for the system integrator.

1.2 Documents

This Technical Description contains product information and data, drawings, circuit and
pneumatic diagrams and lists of spare parts. In the document Installation and Maintenance
(M0412-1) procedures for mounting, installation and replacement of equipment are described
together with descriptions of inspection, cleaning and lubrication activities including
recommended maintenance intervals.

1.3 Wear parts

Wear parts should be replaced before considerable damage occurs. The interval depends on the
number of tool changes and its working environment. Generally, the more contaminated
environment, the closer maintenance intervals.

The following parts are considered as wear parts:

o  Signal pins
o Air sealings
o  O-rings

1.4 Complementary Equipment

Complementary equipment is described in separate documents.

Article Note

Valve unit Mounted at the rear of the upper arm. Shuts off the air
automatically during tool changing.

Cable and Hose Package Complete packages for most robots on the market ready to be
mounted without any modifications.

Tool parking systems RSP tool parking systems give rigid installations for easy tool
changing.

Connection kits Connection kits for tool changers and tool attachments
simplifying electrical installations.

3D-models Available in Solid Works®, STEP, X=T and IGES-format.

6 M0629-1 version 3.3



2 TECHNICAL SPECIFICATIONS

2.1 Description of swivel tool changers and tool attachments

This document presents the Robot System Products STC350-6 and STC350-6E swivel tool
changers including tool attachments dedicated for material handling. Likewise presented are
adaptation kits, connection kits to facilitate electrical installation and a tool stand kit.

The swivel tool changer STC350-6 transfers compressed air to the tool. It can be equipped with
transfer of electrical signals, via spring loaded signal pins, to the tool attachment. The electrical
versions are designated 'E’. The swivel tool changer STC350-6 and STC350-6E cannot
transport fluids.

The spring-loaded signal pins of STC350-6E are placed and protected along a circle close to the
centre of the swivel tool changer. The signal pins are not in connection until at the very end of
the docking cycle when the tool attachment is already properly aligned. This guarantees a
minimum of wear of pins and contact surfaces. A built-in inductive sensor can be used for
checking that the tool changer is in open position. Locking of tool changer and presence of tool
attachment can be checked through a built-in signal jumper.

The electrical unit can be used for identification and checking the presence of tools by using
signal jumpers and binary coding of signals on the tool attachment.

For other bolt circles adaptation plates between the swivel tool changer and the turning disc on
the robot may be needed. Such adaptation plates are available from RSP.

STC350-6E

M0629-1 version 3.3 7



2.1.1 Coordinate System Definition

A swivel tool changer adds load to the robot. If the arm and tool loads are not stated correctly

during programming the behaviour of the robot and the wear of the equipment will be affected.
Information about weight and centre of gravity can, in accordance with the co-ordinate system
stated below, be found in the technical specification tables of the swivel tool changers.

X

NOTE!

For the swivel tool changer origo is situated on the surface in the centre of the
robot mounting flange.

[=le

8 M0629-1 version 3.3



2.1.2 Swivel tool changer STC350-6. Article: PO605

R155

@160

(SISTOXOI0)

144(3X)

202

Swivel tool changer STC350-6 transfers 6 pneumatic channels to the tool attachment. To be
used together with tool attachments P0O606 and P0602.

Technical data

Working temperature

+10°C - +60°C

Bolt pattern

ISO 9409-1-160-11-M12

Maximum tool load Fz (static)
Mx/My (dynamic)

Mz (dynamic)

+ 3500 N
+ 3500 Nm
+ 3500 Nm

Weight and centre of gravity (2)
P0605

P0605 with P0606

P0605 with P0602

22.8 kg /94 mm
28.0kg /111 mm
28.4kg/ 112 mm

Rotational torque

170 Nm

Air channels Pneumatic diagram
User channels, robot side

Dedicated channels, G
1/4"

Air quality

See section 2.1.9

6 x G 1/4" (800 I/min, max 10 bar)

Open TC marked 8, Close TC marked 7 (6-10
bar)

Oil-clean and waterless filtered air, with max
25um particle content

MO0629-1 version 3.3



2.1.3 Tool attachment, TA350-8 Round. Article: PO606

=512y,

H7

@100

Tool attachment TA350-8 transfers 8 pneumatic channels to the tool. To be used together with
swivel tool changer P0605.

Technical data

Working temperature +10°C-+60°C
Bolt pattern 1SO9409-1-160-11-M12
Weight 5.2 kg
Maximum tool load Fz (static) +3 500 N
(M12-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +3 500 Nm
Maximum tool load Fz (static) +3 500N
(M10-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +2 500 Nm
Air channels Connection, tool side 8xG1/4”
O NOTE!
I Tools can be mounted to the tool attachment using 11 M12-screws, alternatively
the tool attachment can be mounted to the tool using 11 M10-screws.

10 M0629-1 version 3.3



2.1.4 Tool attachment, TA350-8 square. Article: P0602

%200 212
\ — _ 30°
?160 | —12) =P -
! Q)
3
‘ 5
ol
I
=
N
N
(2’4
< <
N N
2 o
< N
N N ;
%
>
!

Tool attachment TA350-8 transfers 8 pneumatic channels to the tool. To be used together with
swivel tool changer P0O605.

Technical data

Working temperature +10°C-+60°C
Bolt pattern 1ISO9409-1-160-11-M12
Weight 5.7 kg
Maximum tool load Fz (static) +3 500 N
(M12-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +3 500 Nm
Maximum tool load Fz (static) +3 500N
(M10-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +2 500 Nm
Air channels Connection, tool side 8xG1/4”
@ NOTE!

I Tools can be mounted to the tool attachment using 11 M12-screws, alternatively the
tool attachment can be mounted to the tool using 11 M10-screws.

MO0629-1 version 3.3



2.1.5 Swivel tool changer STC350-6E. Article: PO607

R155

<
I

N o
IS
—— \—(C’_:
K/
5 )
® o
© q
© I O
{0l leeoa - Il :
® @«D S
O © <°
S -
=
D T
g A4l <
/
’ 141,8
L 162 -

202

Swivel tool changer STC350-6E transfers 6 pneumatic channels and 13 electrical signals to the
tool attachment. To be used together with tool attachments PO608 and P0604.

Technical data

Working temperature

+10°C - +60°C

Bolt pattern

1ISO 9409-1-160-11-M12

Maximum tool load

Fz (static)
Mx/My (dynamic)
Mz (dynamic)

+ 3500 N
+ 3500 Nm
+ 3500 Nm

Weight and centre of gravity (2)

P0O607
P0607 and P0608
P0607 and P0604

23.0kg /93 mm
28.5kg /110 mm
29.2kg /113 mm

Rotational torque

170 Nm

Air channels

Pneumatic diagram
User channels, robot side
Dedicated channels, G 1/4"

Air quality

See section 2.1.9

6 x G 1/4" (800 I/min, max 10 bar)

Open TC marked 8, Close TC marked 7 (6-
10 bar)

Oil-clean and waterless filtered air, with max
25um particle content

Electrical signals

Circuit diagram

Total signals
Dedicated signals
Connection, robot side

E0167-006 (see section 2.1.10)

13 x (2A, 60V) + PE

24V, OV, TC Coupled, TC Uncoupled
Souriau 23P (UT001823PH)

Connection kits
(optional)

P8002 (connector)
P8002-1 (connector)
P8129-50 (cable kit)

Souriau 23S (straight)
Souriau 23S (angled)
Souriau 23S, 5-meter cable, open end

12

MO0629-1 version 3.3



2.1.6 Swivel tool changer STC350-6E Sealed. Article: PO695A

\

=

3 9) (@’ ¥ ‘

O @ @ & N 4] .

g e ©OOe6 ° =

9 |eeeq. ||

O © ¢ ,
S ©_°

]]; lpom] | 2

— 8 S

Q é___ 3|

159.8

144(3X) 202

180

Swivel tool changer STC350-6E transfers 6 pneumatic channels and 13 electrical signals to the
tool attachment. To be used together with tool attachments PO608 and P0604.

Technical data

Working temperature

+10°C - +60°C

Bolt pattern

ISO 9409-1-160-11-M12

Maximum tool load Fz (static)
Mx/My (dynamic)

Mz (dynamic)

+ 3500 N
+ 3500 Nm
+ 3500 Nm

Weight and centre of gravity (2)
P0695A

P0695 and P0608

P0695A and P0604

24.6 kg / 104 mm
29.8 kg /121 mm
30.7 kg / 124 mm

Rotational torque

170 Nm

Air channels Pneumatic diagram

User channels, robot side

Dedicated channels, G 1/4"

Air quality

See section 2.1.9

6 x G 1/4" (800 I/min, max 10 bar)

Open TC marked 8, Close TC marked 7 (6-
10 bar)

Oil-clean and waterless filtered air, with max
25um particle content

Electrical signals Circuit diagram
Total signals
Dedicated signals

Connection, robot side

E0167-006 (see section 2.1.10)

13 x (2A, 60V) + PE

24V, OV, TC Coupled, TC Uncoupled
Souriau 23P (UT001823PH)

Connection kits
(optional)

P8002 (connector)
P8002-1 (connector)
P8129-50 (cable kit)

Souriau 23S (straight)
Souriau 23S (angled)
Souriau 23S, 5-meter cable, open end

MO0629-1 version 3.3

13



2.1.7 Tool attachment round, TA350-8E. Article: PO608

H7

I
|
@12

W0

H7

? 100
onnnnlo ggon

83

7

MI2(11X
|
!
|
18(11X)

Tool attachment TA350-8E round transfers 8 pneumatic channels and 13 electrical signals to the
tool. To be used together with tool changers P0607 and PO695A.

Technical data

Working temperature

+10°C-+60°C

Bolt pattern

1ISO9409-1-160-11-M12

Weight 5.5 kg

Maximum tool load Fz (static) +3 500 N

(M12-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +3 500 Nm

Maximum tool load Fz (static) +3 500 N

(M10-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +2 500 Nm

Air channels Connection, tool side 8xG1/4”

Electrical signals Circuit diagram E0166-003 (see section 2.1.11)
Total signals 13 + PE

Dedicated signals
Connection, tool side

24V, OV, TC Coupled
Souriau 19S (UT001619SH)

&) NOTE!
I Tools can be mounted to the tool attachment using 11 M12-screws, alternatively
the tool attachment can be mounted to the tool using 11 M10-screws.

14

MO0629-1 version 3.3



2.1.8 Tool attachment square, TA350-8E. Article: P0604

137.5

3200
D160

248(2X)
220(2X)

195(2X)

12,5

—

—

A

@12 mé(2X)

s

= X
1 N 3|
- 9
%Y 1
105
L]
Pi84x) | |

Tool attachment TA350-8E square transfers 8 pneumatic channels and 13 electrical signals to
the tool. To be used together with swivel tool changers P0607 and PO695A.

Technical data

Working temperature

+10°C-+60°C

Bolt pattern

1ISO9409-1-160-11-M12

Weight 6.1 kg

Maximum tool load Fz (static) +3 500N

(M12-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +3 500 Nm

Maximum tool load Fz (static) +3 500N

(M10-screws) Mx/My (dynamic) +3 500 Nm
Mz (dynamic) +2 500 Nm

Air channels Connection, tool side 8xG1/4”

Electrical signals Circuit diagram E0166-005 (see section 2.1.12)
Total signals 13+ PE

Dedicated signals
Connection, tool side

24V, OV, TC Coupled
1.0 m cable (20x0.5mm?2) with free end

NOTE!

(o)

Tools can be mounted to the tool attachment using 11 M12-screws, alternatively
the tool attachment can be mounted to the tool using 11 M10-screws.

MO0629-1 version 3.3

15



2.1.9 Pneumatic diagram

Connection
Allowed air pressure

1 (air-1 to 10 bar)
2 (air-1to 10 bar)
3 (air-1 to 10 bar)
4 (air-1to 10 bar)
5 (air-1to 10 bar)
| A 6 (air-1 to 10 bar)
7 Close ATC (air 6 to 10 bar)
8 Open ATC (air 6 to 10 bar)

Swivel /ATC / \\

6 (air-1 to 10 bar)

5 (air-1 to 10 bar)
Tool attachment/ 4 (air-1 to 10 bar)
3 (air-1to 10 bar)
2 (air-1 to 10 bar)
1 (air-1 to 10 bar)

16 M0629-1 version 3.3



w

- v € [ 2 [ 1
A—‘Ov FO m @OO N@ FOm m”< S30npoJdd \ QIAOMddY aiva NOLLdINOS3a A3y | anoz mmmm.ooSOXIm
(sobed jo ON) 9Bed | Aoy (sweusyy) “ou wswnooq 1ewo4 I 91-Z1L-$00Z 8SD 8se8ja) 0} ZZX PAAOW a N e =
A A Gi a._v_._._n.oo \ W 12-21-5002 aweybuimesq MeN o] EEEZSM_OM Mvm_mmmv
UORBOJUNLUILUC ll.ln.onm._““_ uonduoseq IO Aq paacuddy . Liald v el = welBelp Ynaity 0} peloBuu)
ot w MHO £2-90-8002 PeibAq 9 ydo | X uondsuuo) 3
19BUBYD [00L YlIM [OAMS g0€0en0e
uonduoseg rw Aq peuBiseq
£00-99103
weibelp ynauD o} )
wesbeip inau) 0} PaBUU0Y
3 . HJEZ8LOOLN NVI¥NOS
e
Tg) 7=| €280
o . > =| zzs0
O || <™= (12S0) a31dNOONN OL
m #=| (02S0) a37dN0OO 0L
; 61S0
610 o> . : A=
o) 81s0 [ _ T _ s
c L1SO I . . 1
o] i 9SO I . _ —T— . <=| 9180
~ AmrmOVAIV._.m<m | TR [T | T [ T [E | i vavmov HLYv3
+JVLSO e ST .z . : T i d »)VLSO
o Oerso  po—t D! f T o = (Je1so
% M.Wﬁmo T LN | T T <] LA R M.Wﬁmo
») LSO ob A D ? . R 13 T ») LSO
(ol N M.Wormo L T 9% i m T z i 5 M.Wemo
.6 SO 0 o [Z g 5 T 26 SO
m ot _ Zwwgo i _ _ _| C—
- :
© . _ _ !
s | | | |
1 ; Ko z _ :
N~ *lwg T _
© _ 05T Zuwuiczo EOX : ! 7
-l L 8S0 e | ! w=| 880
o 1SD e _ g=| 8D
(] 9SO  fmm>- _ : ] _ J=| 950
$80 CI 4 f 1 * T 7=| SO
e ¥SO _ g _N _ # “ . 7= v g™| ¥SO
© (€S0) A0 dO 1 e - t T el 3 5= (£€S2) A0 4O
— g (02s2) @31dNO2 0L f T ] f I v _
w (2s2) Ave+ d0 ABDS i _ ' g z g™=| (2S0) Avz+ 4o
9 Z 9
g - |_ : _ha__ _ | (MT_ , _I v=| 180
p | lexeY s _l ] _l ‘ |L e . §5/d5c8
> H3IONVHO T00L = 0L . LINN ONI¥dMS :
(@] mmmuwm mwnmmww = mw ANIWHOVLLY TOOL OL ¥OLO3INNOD 318Y0 WAV ¥3ddN OL ¥OLO3INNOD
| — =
O & s ¥IONVHO T00L HLWM TIAMS) €Y
STYNOIS-SNE ¥O-4 A3A0¥ddY (.) ( )
v
S ¥10-2010v Bumeiq AIquiassy £090d
A 8 I i [ 5 [ S [ v [ e I 2 | |
(q\/

17

MO0629-1 version 3.3



E0166-003 for PO608

it diagram

Ircul

21.11C

[eubig Jewosny = 89
sjeubig-sng 4o} paroiddy = (,)

(200-9910V) 8090d :Buimeiq Ajquassy

-

"(G0S—00100XHE) 80904

l
1eXvd
__|

= [ v [ £ | 2 I
A _‘ Ov F O m mo O @@ F Om m”< m...—D n UOL d \\ a3A0¥ddV alva NOLLI¥OS3a "A3¥ | 3NOZ 100-991L03
(sebed 1o “on) ebeg| “rey Jewsod \ ar 1S A ¥002 €0} g WOl AbZ+ dO POAOW El QU 01 poKeULoD
‘pUBH1E e 900-29103
;.,Es_uuﬁ_wme: H §S< A S1-11-6002 sweybuimep moN 0 wesBeip ynoxg 0 parauuon | 4
:o__moE:EEoonvamm\ jlesedq uonduoseq V_IO Aq paaosddy N 061175002 AON.:m_‘WOv il _m:m_m st O d WOleoo —.OOXIM
=P~ vd §2-01-210Z pappenoAejuid [ 3 WeABeip UMD O POOULOD
juswiyoeye |00 | gh-b1-s00c £00-29103
wesbelp 1o 0} PjoBULD
r
uondusseq Aq paubisag -
SUONOBUU0) JaWOoISN))
wesBeip ynaJIY 0} PalPAULDD
010-0¥203 _|I||||_
wesbep 0] PaYOBUUOD NYIRINOS
-¥OHS619100LN 04 .
lod 61 3
859 X7 02 oz
N
SIS0 T 3 D
2
2459 T ED D
9189 = 2} D a
GLSO HLYV3 g Kb 57 ¢
() ¥1s0 il 57 I 519
() €180 N _ T o q
() 2180 O T T
() 1180 > m T m Z14 ]
() 0180 1> ! T —d
% ; 3
(.) 680 _ BT _ BT
. = J
; _ juswiyoepe |00} JO MBIA
. G
880 o _ 5 [ ®
180 g5 _ g e -
989 ] 7i 7¢
S50 | 3 99
) a1 g Y
(£80) 0 A0 4O > = 3¢
(0252) @31dN0OD OL J _ = _ = g
(zs2) 04 Ave+ dO ”u g z —
LSO >
18buBYy) |00] = D) v 1
18MOd Jawoisn) = 49 ] qwuwgo
SO/ d0 vy -

S1NPOud WaISAS 30008 “UPPIG} AROMSS S
Aypoupmo ss3uca 1N0UHA S33.40d PAY 03 ANSOPSP JO SN UORNPOJARY

U334} PRI UORTMIOHA A4} U PUD JUIMIO0P S U SIYOM 2AiaSad A7

MO0629-1 version 3.3

18



2.1.12 Circuit diagram E0166-005 for P0604

(10) L0|@ G00-99103| ev

€ | 2 | 1

s3onpoJd /. [(oaroueav

3iva

NOLLd¥OS3a ‘A3y | aNoz 100-99103

wesBerp IINoJIY 0} PaJOBULODY

w

(sabed jo o) abe, 2 ( K = Bueyo S0, suonoel I
ed jo P _\“ .UMMI‘«NE sweusyy) “0u Juswnoog Jewsoy l.\\ N 22-10-900Z  [seoed pebueyd SO, uuco pue eweybumesg men | 8 um_om-oo LODXHE
L 01 Buy r 02-70-9002 Peppe 2| pue 91§D suonoeuuod [ O HEEOPINID ol PeRRIito
SHO 900-29403
uoneIuNWWOD SN / lisliesed| uogduwseq Aq parcsddy UL 61-50-1L102 "9vE0I SEM 8jqeD ‘PAPPE OZ PUB 6 SUOIDBULOD a weibeip ynoi) 0} PejoBUUOY
‘ -1~ €00-29103
Juswyoey esenbs * Jg-0GE JUBSWYDENY |00 | Gl-b1-600c webap g O SABSIBD
a W Aq paubiseq
uoiodBuUUOo? JBwoisn)
weBeyp §nauD 0} paRaULY
3 [ ]
_ 4
e (T -
0 ¢ N&/vd 1 ; 6
T e d/ M T | 6l -
iy N8/X9 H I 8l >
c e KO/ HM L : s
| HLNV3 ¢ N&/3k T _ 51
i ELV T ! St
" NS/N8 1 | v
¢ NS/ HM 1 | By
e ne/ay T : [
9 ) SEVAS) - <
c [ ! |
i ) P | or.
. C 8 L | 52
] 5 IE o | _ L
_ na || | L
¢ Sd ] [ mm
1oy30b0] pejoauuod aq o e 1 % “ _ E w.\.
¢| PINOYS NO pue Ng 3|qed (e10N 995) 031dNOD OL / ) +—+ “ =<
310N (10N 898) 00 Avz+ dD € +— - C
C Ng L] 1 &=
- i 7 _ b
Zuwgo _|
- 28.01 219eJ
090d
v
120-9910V :Buimelq Ajquiassy
8 | L | 9 | S v 3 | 2 | 1

19

M0629-1 version 3.3



2.2 Options for swivel tool changer

2.2.1 Robot adaptation kit

A robot adaptation kit is mandatory for mounting of a swivel tool changer to a robot. The
adaptation kits always include rotation stops which are prohibiting the swivel tool changers to
rotate in relation to the robots. Dependent on robot model an adaptation kit may also include an
adaptation plate for other bolt circles. Robot adaptation kits are available from RSP.

© NOTE! Dependent on robot model and rotation stop, there can be limitations on
I the freedom of movement of axis 5. Contact Robot System Products for more
information.

2.2.2 Tool Identification

Jumpers on signals at the tool attachment can be used to give information about which tool
attachment that is docked in the swivel tool changer.

20 M0629-1 version 3.3



2.2.3 Tool stand kit. Article: P0639

305 59
24 | |- 40 _.
P0639 P0602 OR P0404 %;Ti f% .&‘_.
___4I _@
@,
23 -
9
EIE ]
5%
5 = Tl
,g g’ - B o I
[ R T
220 0,5 I

This tool stand kit, mounted on a stand, gives in combination with square tool attachments
P0602 or P0604 a robust tool stand for easy tool changing.

Technical data

Weight 2.6 kg
Maximum load 350 kg
@ . o .
I NOTE! To guarantee reliability and a long service-life for the swivel tool changer,
the tool stand must be stable, both in terms of its design and attachment.
o NOTE!
I The tool stand must not be spring-loaded!

2.2.4 Limitation of Robot movements

There can be some limitations on the movement of axis 5 for some robot models. Contact Robot
System Products for more information.

MO0629-1 version 3.3 21



3 SPARE PARTS

3.1 Part list for swivel tool changer, P0O605, PO607 and PO695A

Item | Description Part number Wear part Pcs
1 Locking screw MC6S 12x160 11
2 Spring loaded signal pin (STC350-6E only) 10042 X 20
3 Air sealings 63550006-462 X 6

4 O-ring 11466 X 1

22

MO0629-1 version 3.3






r. P robot system
Products




